FITTING

INSTRUCTIONS ‘I'

MESH DOG GUARD
GAL 041

- for all models except 110 Station Wagon

EITTING KIT

NONNNMNNNN PR

GUARD

SUPPORT LEGS

M8 HAND WHEELS
M8 FLAT WASHER
M8 SPRING WASHER
M6X25 SET BOLT

M6 X 35 SET BOLT
M6 FLAT WASHER
M6 PENNY WASHER

SUPPORT LEG

MG FLAT WASHER

EITTING INSTRUCTIONS FOR LAND ROVER DOG GUARDS

P/Nos:
P/Nos:

GAL041 Mesh Guard GALO042 Bar Guard
GAL043 Mesh Guard GALO044 Bar Guard

These Guards will cover 88, 109“, 90 & 110 Models Except 109 & 110 Station Wagon.

[¢]
o

[¢]
o

[¢]

Fit support Legs to Guard, use the M8 Hand Wheels, making sure they are central in U Channel.

Position Guard so that Lugs on Support Legs are sitting on top of Panel Capping and the Bottom of Leg is touching Seat
Box Side.

Make sure Support Leg is upright, then mark the 2 Holes, move Guard and drill 2x7mm Holes.

Fit Top Nut & Bolt first, the Bottom Bolt should be pushed through Leg, use the large Penny Washer, this should have a
small amount of Body Seal to make it water tight.

Tighten up Bolts and repeat on opposite side.

To remove Guard — undo Hand Wheels.




FITTING TerrafirMa

INSTRUCTIONS ‘f Serious 4x4 Accessories

WARRANTY & DISCLAIMER - Terrafirma products are warranted free from defects in materials and workmanship for a period of 12 months from the date of retail invoice. Terrafirma does not warrant that the products manufactured or
marketed by it comply with the laws of the country where those goods are purchased or used. It is the sole responsibility of the purchaser to ascertain whether products being purchased, or the fitting of those products to any other
object, comply with local laws. This warranty covers structural defect and workmanship but does not cover finishes, labour charges for removal or refitting, freight costs, accident damage, misuse or abuse, damage due to incorrect or
improper fitment or application, modified product, faulty design or consequential damage of any kind. Damage or defects caused by collision, alteration, improper installation, road hazards, adverse conditions or usage for any other
purpose other than normal private usage are not covered by this warranty. Terrafirma shall not be liable for any other claim relating to the use of the product and any indirect special or consequential damage or injury to any person,
company or other entity. All claims must be accompanied by the original retail invoice and should be submitted to the supplying Allmakes 4x4/Terrafirma distributor. This warranty covers only the replacement of the product or part
concerned. The decision remains solely at the discretion of Allmakes Ltd. The information contained in this catalogue was correct at the time of going to press. Allmakes/Terrafirma and its associated companies reserve the right to alter
the range and any product specifications without notice. Always consult your Allmakes/Terrafirma distributor for the latest product information and specifications. The Terrafirma range of products is constantly being evaluated for
enhancement and improvement to make sure the level of quality and performance is as expected

THANKS FOR CHOOSING TERRAFIRMA — SERIOUS 4X4 ACCESSORIES www.terrafirmadx4.com Page |2



